; .(‘"). i KUET, CUET, RUET & 3 R4

01. @G sereGEs @y 10002 | O3 R F© AG & FA0E To SfeR 2_MZ TAR 99% ATHa Wy few

21R® Z(3?
(a) 1.01Q2 (b) 2.01Q2 () 1.06Q2 (d) 1.10Q2 (e) 2.10Q2
AAYH: (a); —9—9— Sl xI . S=1.01Q
100 ~100+S
02. 25cm (FIFET Ry (A2 TEe (@791 (AT T© T I AT I I8 [0 WA I8 WSS A5 96 a2
(a) 25cm (b) Scm (c) 10cm (d) 20cm (e) 30cm
ANYE: (€); v=3u : :1+ : S u=30cm

25 u 5Su
03. 20cm (FFMT FAIPT GI0 TG 19 IR 9 U6 NIGH T 0 THAT 57 a1 T | NG F0Ha HIS]
3D A SIS ETHGE (I GAY FS? |

(a) 50m (b) 50mm (c) —50cm (d) 45cm (e) 45mm
AIYE: (€); 3= [20] +l :>-1—=—2 S f=-0.5m=-50cm
100 f f

04. T @7 fa-foq Adrwr fog o T4=et v 1.9mm 1| @ 57 @ Im A SR A4 0.31mm - e
(1T | WITETIR SI% A ([T 4 |
(a) 5890A (b) 5900A (c)5900x10°m (d) Im (e) 5800A
Ax1
1.9%x1073

05. TN TSy (@fte 7 7 o Sx10°cm 3% MTHa WITAT (Tt RO 5ata & WoRST @ 30° |
qogeq (@t w7 gfe EFRtE oot @ witg o fFfa <91

sryrE: (a); 0.31x107° = L A=5.89x10"m =5890A

(a) 6000 (b) 5000 (c) 4000 (d) 2500 (e) 1000
Ta: (b); sind=Nnh =N = 5‘5“3?0_? Line/m = 500000 Line/m = 5000 Line/cm
XX

06. 93 60W @z Im e Jigw witen [fsfae 3oz | Ime ofir «fea w@ 2% 1 wwens =fere weefte =7,
o1 ofe CTats IR 2o T MAT @6 fife 2 @@ 39 | [59w e A =5550x107""m ]
(a) 3.35x10'°  (b) 3.30x10"®  (c) 3.35x10®  (d) 3.35x10'®  (e) 3.30x10"°
nhc 2 nx6.626x107%x3x10°

srd: (d); 2% % pt = — = x60x]= . n=3.35x%10'"
() 27Xt =757 = 100 ~ 5550x107°

07. @3 TFaa o 4M, | THa’ I FHRA@ TR 2 O @7 CIRIEHERE 1 710 AETE To A2 (T ©9

M, =1.99x10°"kg)
(a) 12.80km  (b) 1480km  (c) 11.80km  (d) 11.80 m (e) 12.80 m

e (c); R, = 22?1 [M=4M_] =11.80km
08. QfewTg 99y 1620 %7 | 9T AN @RI 9T CIFRATT Y (S TS ANY 53?2
(a) 1620Y (b) 10.760Y  (c) 2.348Y (d) 23.49Y (e) 234.8Y

B ECTRR | s U SEERCTITTIENN
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SfefomiRe g orgee R :8 Ty ﬁ IR KUET, CUET, RUET £ 8 Wie

09.

10.

11.

12.

13.

14,

dN

. (d); —= = Noe™ =5 0,99 = ¢ 42780™
0.693 _
A= T =4.278x10"y™ - t=2349y

WS AU

_2
Shortcut: T: X lo — 1-1x10
2 50.5 "% o

1

1620 x logy s ( ) = 23.49

27°C Srom@m s | mﬂmﬁﬁsﬂﬁﬁmwwmﬁwﬁﬁmmwmﬁwwmu g
S F9 29? (Y =1.4) |
(a) 27°C (b) 273°C (c) 0°C (d) 1229°C (e)122.9°C
1.4-1] 0.4
TALE: (€); 300(V)+! =T{:§) (V) = 300=T{%J - T, =39585K =1229°C
T SR FCAFRIRT 8 (FARST CFCT 93 AT AT a2
(a) 574.25° (b) 577.25° (c) 570.25° (d) 579.25° (e) 590.25°
- ~2
T: (a); — 932 . : B 5x—160=9x —2457 = 4x =2297 - x=57425°
a3 TEeTe 100 fOR T e oA s wfss z1) Soimm @ Fiww oife s *“dey ol w0
[J=4.2Joule Cal™']
(a) 0.434°C (b) 0.234°C (c) 0.234°F (d) 0.564°C (e) 0.123°C
Tr4: (b); W=JH, JmSAO=mgh = A= %11 - AB=0.234°C
S
9200 kg =@ @3 @ioa e 9B 60km @Ut 5 | @F G BB S0m F AN 29 | I wfoe
TS 39 200N ZW, S Q@SS 9 7 T 39 |
(a) 2100N (b) 2200N (c) 2500N (d) 2300N (e) 3000N
Tre: (d); v =u? + 2as [a =T%w]
2
a= (16.67) ~.a=277Tms™ | u=60km/h=16.67 m/s
2x50
937, 3 F=200+Fy,, = ma=200+Fy . . Forare = 2300N
SR AR S, @ereT @ SR IFRAT AT T 63.6, 2 @ ':'3.29><10""kgc“ | ZRIGIEAT Sfy
AT TE FS7
(a) 1.09%x10 % kgC ™' (b) 1.05x108kgC ™ (c) 1.03x108kgC ™!
(d) 1.20x10"*kgC ™" (€) 1.03x10 5 keC ™!
63.6 .
TG (C); —€-Tc W __2 = Wy = Ll L S Wy =1.035x107%kg C!
Wy My Wy 1 63.6
' 2
10MeV sifS =f& ffm v 2o o7 797

(a)m, (b) 10m, (c) 02051m,  (d) 2.051m, () 20.51m,

AALE: (€); @9, Amc? = 10 X 106 X e . Am = 1.78266 x 10-2°
“m=m, +Am = 1.874 x 1072° = 20.51 m,



eRmR o emace (O Ty SR I  cuer, cue, RuET s s e

15.

16.

17.

18.

19.

20.

21.

3B t@fe T FPTE 0.1cm | 9F 50x10°Nm™ 985 @32 1000kgm ™ T09T (ST TN LH0
e T THOW (T Bod? (P @It = 20°)

(a) 9.588mm  (b) 9.588cm  (c) 9.588m (d) 0.1438m  (e) 0.1438cm

thpg _ , _2Tcos® _ . _ 2x50x10™ xcos20°

2cos0 rpg 107 x1000x9.8

- h=9.588x10"m =9.588 mm

_A'=S§+23—312 qR ﬁ=lSi+a}—9f< | 'a' FAFIS A A 8 B 77 TG {7

TigE: (a); 1T =

(a) 7 (b) 6 (¢) 5 (d) 4 (e) 8

s (b); >~ =2=> a=6
15 a 9

Z-7jP (AT F© CRLe (ITF TR WSFET $ATR A 25% 703? [3RA7 p1d = 6.4x10°m]

(a) 100km (b) 25km (c) 640km (d) 6400km () 64,000km
! 2 2

Wm:(d);g= L —:=-£= i 2_;-1-—- R —:»R+h=2:>1+£=2=>3=1
g (R+h)*> 100 (R+h) 2 R+h R R R

~h=R .. h=6.4x10°m = 6400 km
10m =% @32 1mm I [ 9 o@eE 100N 39 @1 B =41 | SIFive (A4 Fope Jia *iltd ({9 9 |
[Y =2x10"Nm™] |

(a) 6.4x10”m (b) 6.4x10"m (c) 6.4x10°m (d) 6.4x10°m (e) 6.4x107%m

T: (a); Y:% =tk o 100x10 ~1=64x10"m

AY %ﬁ(]O_E)ExeIUH

5NN SReAd A AR Y =10sin 21 (340t —0.15%), @IF X GR y 93 9% o @R t @3
O9FF CTFS | &% g ffm a2 |
(a) 10m (b) 340m (c) 0.15m (d) 2mm (e) 6.67m

TNYE: (e); y=asin[mt—2§x] ; w=21tx340

2%‘:0.15><2n © A=66Tm "

78.4m SISIF A ATLT AT Tl T6 R 4.23s #IF A0S 9T AT *1% O (o427 | I AfSF/T gt
g =9.8 ms™ T OE@ IO I @ Frfr s

(a) 340.97 ms™' (b) 340.87 ms™ (c) 340.87 ms™' (d) 350.87 ms™' (e)340.78 ms™

FgE: (c); 78.4=4.9 tt2 , ty=4sec ..t,=0.23sec

a3q, 784 =ux0.23 ..u=340.87m/sec

93 JEFE P& BT 30 cm R AR AT 50 | ST T4 frew T© ofr &11E v I @TE 150uT

a7 HEF CFE (8 T?
(a) 0.72A (b) 0.64A (c) 0.72mA (d) 0.64mA (e) 7.2A
Np, I
st (a); B = 2“0 - ISUxIO"ﬁXZx%:SOxﬁmxlO_TxI -~ 1=071619A
I

D s § BN



CECETER T @ 6 ]

22.*% @B P TroeR SN 5::-:10 Skgm G, BT ST 2Am2 |Wﬁﬁsﬁﬁﬁ? 605 wrer o | @ BT
C-IO19 CHIAT S ST NI fefy o7 |

(a) 9.87x10°T (b) 8.97x107*T (c) 7.859x107* T (d) 9.87x10~* T (€)8.97x107°T
TagE: (d); T=1sec, 1=5x10"kgm?, M=2Am?, H=

2 y. _5
T=2n|—— = T?=dn?x_) :H=4n£ _ g 4x(.14) xzs:x.w
M MH MT o 2x1

. H=9.8596x107*T

23. mﬁwwwwiﬁwl AT fod arersoa IFE 8x10°m aﬂmm'w@?w
2x107m | 4IBTS 100 (1% ST ATt I “ire w2Bre & S o o 2eg frefy 5 |
(@) 8.9x107°C  (b) 8.9x10°C (c) 6.9x103C  (d) 9.8x107°C (e) 9.8x107°C

sem: (b); Q=CV: C=2€

>, A=mr’

AS  _gox10-°C

S Q=Vx

24.* «3fb et Aifsq spetea cvawar 0.4cm? | @t 3000K SN ST etk | [Rfefae e g9 @@ o9
[6=5.7x10"° Wm™2K™] .
(a) 184.68W  (b) 184.68kW  (c) 185.68W  (d) 148.86W  (e) 148.86W

sa: (a); E=AoT! =0.4x107x5.7x10 x(3000)* .. E=184.68W
25. @M PEICS Ssec AN SR &A" 2.5A @ 10A -9 HfRSe 2T 7 @ T 10V ofewr e
IR 2 | PEAT TIW WIHE F97
(a) 2.5H (b) 10H (c) 20H (d) 6.67H (e)3.33H
dl 10x5

TE: (d); E=L— = L= =6.67H
dt 10-2.5

26.* TR0 @Ei? [Ans: d]
(a) NiS (b) (N1, Cu, Fe) S (c) (N1, Co, Fe) As,
(d) NiAs (e) NiAsS ‘_

27. 350" -400°C ot ©68 Al,O, =TCSIEa Bofg Mea c2lIHeTa It ST T & toqt 37
(a) CH; —-CH, —CH, (b) CH;-CH =CH, (c) CH; —CH =CHO
(d) CH, =CH, (e) CH,CH, —OH

T (b); CH3CH;CH,OH ——— CHy — CH = CH,
28.* Aieee fafEFaetaite @F wygrFe-93 3 Al 732 [Ans: d]
(2) CuSO, +H,S=CuS+H,S0, (b) Pb(NO;), +H,S =PbS+2HNO,
| (FIe=) (FICET)
(c) HgCl, +H,S=HgS+2HCl  (d) CdCl, +H,S = CdS + 2HCl
Saly (PIT=TT)
(€) SbCl; +3H,S =Sb,S, +6HCI
(F5<)

, TR, ) ( s




S B gD | ; @ & i = ‘- KUET, CUET, RUET &7 8 TI{Td

29.

30.

31.

32.

33.

34.

35.

350gm B 550gm Wﬁ—wmwm—w'rrmﬂ (ﬁsﬁzww C;2H,,04¢)
(a) 0.0324 (b) 0.9675 (c) 1.0334 (d) 0.0355 (e) 0.9870
550
. (R 18 _
TrYE: (b); 350 ) 550 = 0.9675
342 18
e e’ of 1 ¢ C.H,COCl + CH, — NH, — +HCI [Ans: c]
(a) C;H,COCH, (b) C;H,NH—CH,
(c) C¢Hs —CO.NH—CH, (d) C;H,CO—N(CH,),
(e) C¢H,CO ~ NH - (CH; ), '
C a7 7 (@0 @7 A2 —nee-my A OnePoray g OneP-ny o
(a) 3 A1* (b) ,Mg” () yNa® (d) AL (e) 1, Mg™
TATYI: (d), HAIZT One : ”NHEE'- One > : legEJ ]3A123
a Ray, 1Hf.» B Ra},rfle B Ray, _IE
R0 ST AT =S 77? _ [Ans: a]
(a) (T F1TT (SfF IS TR (b) 1231 T UICS T
(C) FRIES HER Tote WRes ata  (d) WITes AEW 27 () Tl WA 71 tofd 3
(TETeE  Amfere RGN A R sy ot 3w @, 3.51mg WifRfEw tF Sge NH,
0.0103M HCl-43 3.69 cm’ WHewa q3ite eifie 70 | SHifAf TREGISEs o1 T @A ?
(a) 15.16 (b) 30.32 (c) 14.60 (d) 1.52 (e) 1.46
FI4r: (a); 0'0110;;03'69 =n ..n=3.8x10"mol .. W, =nx14g=5.32x10""g
D %
N, = 33210 60=15.16%
* 3.51x107°
o Al Qifee SAm 2= 3 | [Ans: €]
(a) C (53%), H(7%), O(23%), N(16%) and P(1%) .
(b) C (53%), H(7%), S(20%), P(4%) and N(16%)
(c) C (53%), H(7%), O(23%), 1(1%) and N(16%)
(d) C (53%), H(7%), O(23%), S(16%) and N(1%)
(e) C (53%), H(7%), O(23%), N(16%) and S(1%)
I AR il s Hifirem v w3eR vaw o @AB? (Ry =10.97x10°m™

(a) 4.8627x10°m (b) 2.16568x10°m (c) 5.16286x10°m
(d) 4.8627x10 " m (e) 6.51862x10°m

4: (b); 2.16568x10°m  use, -1?:=RH[ L 12]
Il

| n,

'-‘]m, nl=4 1‘12=4+3=7




HTED ) { BT
36. a1 N T RIGAT 50% 1S 23 Ff{6 awaem =& 90% oiF 7o @ Ry v 7wy e 2@
(a) 33.18min  (b) 3821min  (c) 7643 min  (d) 75.53 min  (e) 41.40 min

A4 (¢); t, =23 min [given]

2

LG 0693 1 | .
k=-In—= ' =ln— .. t=76.42 min
t ' C = >3 Xt 11'1E
100
Shortcut: T: X logg ¢ WW = 23 X logys 1—1{1.9 =764
2
37. Www @ el e a2 [Ans: €]

(a) W 0 71T SR ITgEST AN TSI FAGT IF [@9F 27

(b) 76 IR SfeR IeMrqRrerE 1w 0.5 @7 T ZCT OIS Seirera TS Wy s =7
(c) T e ofer Feras ey (0.5—1.7) =0 AR STeareT §ig o1f5s 2

(d) 70 *RIE Sfer g Ay 1.7 7 @A 0o WA O ifde =

(e) coremfaft e STt Qe ey = |
38. 20 cm’ WU @WE (IR ST §RHCE BIRG wrs 0.1M 10cm® WRet™ KMnO, Swie < | @
R0 WA SR F97? .
(a) 0.558gm (b) 2.790gm (c) 0.0558gm  (d) 0.279gm (e) 0.0279gm
srg: (d); 2 =D.1x10 5 ..x=0.279
@ 5585~ 1000 h -
39. fAtea wr-Remae Rfewe @mb wfe T [Ans: b]
(a) Sn** +2¢ = Sn?* (b) Fe** == Fe3* —¢ (c) %Hz == H"+e
(d) Ca—2e = Ca? (e) MnO} +e = MnO;"
40. T SIAEAT 8 BT JALMGITE I YR @ ([Eea =wed 3.22x 10 cm’ . % @ voft 23w
AT Y WTR?
(a) 8.6580x10'* (b) 8.6080x10'* (c) 8.6580x10" (d) 8.6580x10'" (e)7.9880x10"
TEE: (C); n= 3223107 x6.02x10* =8.65x10" :
22400

41. I O @ B (I AT G2 Fog=ite @3> wrwrs AqeT 8 @i Ty Few 79 TUTE 617 |
ST 999 36 2E TE(S AT THET oF 39 3017

(a) 50 (b) 52 (c) 98 ° (d) 25 (e) 49
TATT: (€); :—z — ‘3: =d, =%x36=49

42. Aoa @ TR A T2 [Ans: b]
(a) %53Th >4 Pa+ Y (b) 73 Al+5He —30P+1n
(c) 14S+;H > 1Cl+!n (d) %53 U+on — 2 U+B

(e) %3 U+ on — '§¢Ba + 5°Kr + 2! n + Energy

T B 141 ﬁ E‘“"' {RRISTH STTCa g7 ...

|
s -.hh_::-- " }




R o eras GO 7y G J
43. 50gm TEfA 850gm TS FIg® F0eT Faraa-#IfE crenfafoce T© 232 (1ff w9 =0.9887gm/cc ©
2o urifds ©7 = 60)

(a) 0.9803M (b) 1.0416M (c) 0.9693M (d) 0.9916M (e)1.0041M

I9E: (¢); Oif;‘;?cw “fIf"Te FSfar Wity 50gm

-, 1000cc ~ifite Sefat Witz Si'éﬁmul = 0.9693 M

Ry sfefd: S ST = —o20 _ cc=859.715cc -~ M=— 22  %1000mol/L =0.969313M
0.9887 60x859.715

44, 25°C wremm@ e 101.325 kPa 57 sitet 1.0 cnier frcesee wigrense oAf#fere vt sarw 801.1 kJ e
Tedifre 2o | T Swets e wed Rfemm ot s sa

(a) —41582 kJ (b) 5761.8 kI (c) 4158.2 kJ (d) 796.84kJ (e)—796.84 kJ
g (e); CH,(g) +20,(g) — CO,(g) +2H,0(4)
An=]1-1-2=-2
AE, = AE,, + AnRT
" AE, =AE, —AnRT =-801.1-(-2)x8.316x107 x298 =—796.84 kJ
45. 300 K @ NH,Cl(s) Rarsew K, ¢ K, 93 93 @i?

(a) 600.64 atm’I*mol™ (b) 606.64 atm*L*mol™ (c) 612.64 atm’L*mol™
(d) 618.64 atm’*mol™ (e) 624.64 atm*’L mol™
reE: (b); k, =k (RT)*, An=2-0=2; R=0.0821Latm/mol/k; T =300K

% = (RT)*" =(0.0821x300)> =606.64 atm*I*mol’

C

46. 0.2gm NaOH 250ml fT&= *if"re gdrge a1 g3t pH 93 9 F© TA?

(a) 12.3 (b) 13.3 (c)11.3 (d) 10.3 (e) 9.3
TE: (a); 250mL #1f{te NaOH =itz 0.2 gm

;. g et 0.02 M . pH =14+1og (0.02) =123
47. FFeRT afftes @Y g3t 2.5 ampere & ST FOT HEA FAE AW S 8 5T 600 ml H,

[T TR A7
(@) 3046 min  (b) 3246 min  (c) 3446 min  (d) 3646 min  (e) 38.46 min
RYE: (€); 2.9 %t x 1 = L x2 . .t=3446min
96500 22400

2H* +2¢” —-H, T
1 mol H, «3 &= &tares 2F C 1ot
600 mol H, 93 &= grare= 2Fx600€

22400 | 22400

- 2Fx600
22400

T———T -
{ =k ) 3 | ]
il
TR el P e
- — — —

=2.5xt =>t=2067.865=34.46 min
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fefauise s og@ners @ ; @ & i 9 KUET, CUET, RUET &6 8 TalidTd

48.

49.

50.

51.

52.

27°C stow@y aﬁtﬁ@%@ 0.02 M HCl ﬂamwwwwﬁg&wﬁawﬁWWW|
(a) 0.1773 wlt  (b) 0.0591 wlt (c) 0.78 wolt (d) 0.052 wlt (e) 0.1 volt

TYE: (€); €=0.0591p" =0.0591x {~log(0.02)} =0.1 volt
N,O; = Ruare ffaara 5@z = 103.00 kJ mol™ @r 25°C Sriwam @ &< 2x107 sec™! =z
0°C sriais RfGHT @ 3T 9 397?

(a) 4.45x107° sec™ (b) 4.45x10°sec™ |
(c) 4.35x107°sec™! (d) 4.42x1077 sec™ (e) 2.67x107°sec™’
k E 1 1 k 103x1000( 1 1
TgE: (a); In = —2 — 5 ] - _
(@) 2x10° R (298 273] — n[2x10‘3) 8.316 (298 273)

s k=4.45%x10"sec™ _

ANNET GF N1 F ALFS @AG? [Ans: c]
CH - CH H,C - CH, HC - CH
H | | | I I

®) |, ©) -
Ve on SN K, CH
HC - CH, H,C - CH
ol o |
HC /CHZ H,C <\ ////C
S N
n/2
I cos’ x dx @7 T F?
0
2 4 7 11 8
a) — b) — c) — d) — o
@ 15 ®) 35 T @13 © 15
/2
surg: (e); Use Calculator =, I cos’x dx = 2 gy 5 =9 S 248
- 5 5-2 § 3 15

0
1 Y

J dx — T T

1 (4-x?%)?
m m s m m
= b) — = d) = had
(a) < ®) 7 (©) 3 (d) (€) =
o R () B) 3
(4-x )2 ¢ 2cC0s
let, x =2cost dx =—3sintdt
—t]—r = : % So appropriate value is g

[wtﬂmm X =c0s0 4TI 31 O |]




ETTNEE | o |

53. &g 22te (h, k) ﬁﬁﬁmwﬁ?mwﬁwmﬁrwmwwwmv
(a) x*+y*-hx —-ky =0 (b) x*+y*—h-2k=0 (¢) x> +y*=2h+k
(d) x*+y*=5h-k=0 (e) x’+y*—4h-7k=0
TAYA: (a); TSR AMRITE FwReam TRt (0,0) 9k (h,k) s Iew aef @ wfFs e

et : x(x—h)+y(y-k)=0 =>x*+y*-hx -ky =0

54. x-3y+4=0,x-6y+5=0 aR x+ay+2=0cRET TR B SO @@ AR T8 aR

AP @ Ahead @ Hb?
(a) Sx—y+2=0 (b) 4x -3y =0 (c) x* +3y* =7x
(d) 3x%+y? =5x (e) 3x” +3y” =25x -
1 -3 4
FgE: (None); |1 -6 5(=0 ..a=3
1 a 2

X+3y+2=0 @@= o7 79 @I A, 3x—y+k=0
@y 26w, k=0 .. 3x—y=0 So, Ans. 7 |
55. (1, 2) R 280 x — /3y +4 =0 @R Boia 71w Wefre Tl 236 | [ARY 20O G2 AR TP TO?

(2) 1+J_ (b) 2+2J§ (©) 2+3J3_ (d) 1+5\/§ &) 3+7\5

F141: (b); K—'\/Ey+4=0 T Y @ T
V3x+y+k=0731 (1, 2) oo - V3+2+k=0 .. eqn V3x+y—/3-2=0.. (i)
|—V3-2]  2+4f3
JBy 2 2
56. 3G I8 Y -WrHE TERAre = 3@ a3 (3, —4) [ o wifSery 3=, 3oita sl @i ?

(a) 3x* +y* =10x (b)4x? +y? =x (c) x> +3y* =7x

(d)3x2 +y2 = 5x () 3x2 +3y? = 25x |

srgE: (e); f2 =c

LxP 4yt +2gx +2fy+£2 =0 =, (0, 0) 8 (3, —4) REpmw

L ff=c=0 LxP+yi4+2ex =0T (3, —4) Epm
9+16+6g=0; 6g=-25

g=_‘%5* XE'*‘Y "%X 0 .'.3x2+3y2—25x=0

ECCH | ¢

1Y

Now, (0, 0) Z® (1) 995 =g
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57. 3 y=3x+1 @B y* =4ax Wwﬁmm%w%wmwﬁ?

(a) 10 (b) 11 (c) 12 (d) 13 (e) 14
TLE: (¢); 9T, m=3 .. y* =4x3xx =12x
c=1 %wﬁw“lz aFS

g¥q, a=mc =3x1, a= 3
58. TOYrET IR 8 W THFIRGLE JAGHW X 8 ywmwﬁm%ﬂq@ﬁawwrﬂ AR FIFEAT
TG @ 8 Wk Marsarms 1R a9 18 |

(a) 5x%+9y* =180 (b) 6x* +9y”* =183 (c) 2x% +y? =25
(d) 5x* +7y* =25 (e) 3x*+2y* =16
AqI4E: (a); 2ae =8; 2—3 =18

€

2 2
a=6:e=2 ~b2=20 -3 1Y 1 - 5x249y% =180
3 36 20

59. 1+3sinx+9cos’ x 99 5 WF T2 T4 0 < x -::g

. -1
(@) 4 (b) 13 (© 10 @5 @ =
srer: (d); £(x)=1+3sinx +9cos” x
f'(x)=3cosx —18sinxcosx => 0=3cosx—18sinXxcosx = cosx = 6s5inXCcosXx

!

s.cosx=0orsinx = @, f"(x)=-3sinx +18sin” x —18cos® x

cosx=0 T, sinx=1 .. f"(X)=-3x1+18=15>0

smx—é a9 §«7 @R casx—Jl—ﬁ—z Jl—— 9T (FE f(x) 99 T 7 599 A |

o f(x) L‘iﬂ‘-ﬂ”ﬁul-i-3::w::—+9:=t;E i
6 36 4
60. TIM cota+cotf=a, tano+tanB=Db ¢ a’+[3=€l W S cotd 99 I F9?
! 1 1 1 1 1
a) —+— b) ——— C d e) ———
()ab ()ab ()a+b ()a—b ()ba
1 1 b
T (€); + =a = =a .. tanoatanf =—
tana tan[3 tanoctanf - a
tan o + tan 3 b b ab 1 1
9, = : = — = = tanB = —— S.cotf=———
aalady l—tanatanﬁ_?tﬂne 1__13 = g a—b - a—b b a
a a
61. T cotAcotB+cotBcotC+cotCcotA =1 32T, o A+B+C 93 5 79?7
T 3n n
— b C) — d) 2= e) —
(ﬂ)2 ()‘n ()‘,2 (d) ()2
sgiE: (b); cotAcotB — 1 = —cotC(cotB + cotA) = cotfcot® 1 cot(m — C)

cotB+cotA
= cot(A+B)=cot(n—C)=>A+B=n—-C~A+B+C=m

R - (R
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62. sincos™ tansec™! = @7 TARIFS T F?
2 2 2 2 5 5 5 5 > >
X° =2y 2v- —x —Ix ., v — %
a) J } (b) .J 4 (c) Jy (d) \/}’ (e) '\/ y
X , ”
* 2 22
— - 2y© — Ive —
FAAE: (€); sec £=t::‘ln'l \/X }’ sincos™’ \/x }’ —Slnsm_l\/ '.V X =\/ y-—X
y y y y

63. et Ffreas JrT ¢ Twer Ifaw W TAFH 0.025 8 00135 230 e Ifad TE 67 W JIT ¢ Troel
WG 10 8 25 a3 {72 27 |

(a) 10.8723 (b) 11.0515 (c) 14.3725 (d) 11.3725 (e) 17.0515

dh ol dv_df1 __» 1 - dR , dh
___0035 nR“h | =— 2Rh—+R* —
T (a); 4 a dt( 1 47::{ N o + | dt]
dR T ]
EzU.OZS =E:r-:1Dx25x0.025+2nx100x0.0135 =10.87
R=10, h=25

64. @32 7w 30 F @ 2w ¢ 51 e, 30w 8 51 mr @ 516 = @ ?ﬁi‘mﬁﬁml
CAIBACTR WIGITN G36 I/ 2300 GI0 97 (ST 30 GIi6 FICal WF FGEA T2

4 3 1 5 1

b 4 A b a___ " il d = il

(@) ®7 , @7 & @5 © 3
e (&) e S et e e 15 | 1 | 10D <08 < 0.3

3 7 3 8 3 12) 252

65. 102 «zs AR @b 3o W wEA W wFf 77 w3l e s e | srve Afe o 9T Som
T GR G T TG 09 AF-PSIARA ZLEA, AR @64 NI $6?

(a) 15 €as (b) 52 @as  (c) 152 e  (d) 12 yz= (e) 10 935

7ar4gE: (Blank); P +1 0v2cosa=0 - coso= __J_
10

E 2_ ? ; : XX e __P_. -
[Sj - +€10JE) dandat [ 10\/5] e
6 A4l ‘ [Ans: c]
i | ) '@
(@) + 2=V-2) () £(4-vV-2) () +|(8+2)? -(v8-2)2V—1

o —

() £ (VB+2P -(2-B)>V-1|  (€) £{(V6+2)2 (/6 -2)2-1

e — = —

67. 2+3+4+3+6+3+S+3+......... qRIBT AT @IND?
3r . 5 7! ol

-

1 (e? —5e— . 12 ey, loog oo
(a) 2(2 5e—1) : (b)ze(SE: 6;1) _ (c)3(e 4e —2)
(d) l(2e2 -5e-1) (e) i(ske2 —e-3)

3 2e
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Targ: (b); Use Calculator

24+3 4+3 6+3 8+3

+ + + ST
3! 5! 7! 0!
_2n+3=2n+1_l+3_1+2
2n+1)! 2n+1)!  2n+1)! 2n+D! (2n+1)! _(Zn)! (2n+1)!

1 1 ] [1 1 1 1 J (1 | . ]
= + -+ = +—+ + — e A+ —F—F—+........
(2n)!  2n+1)! (2n+1)! 20 31 4 5 3157

|
= e—2+l[e—~—2j =£(e2 —4e+e2—1—2f:) =i(3el—6e—1)
2 e 2e 2e

68. 27x’ —63x* +42x —8 =0 FAFAIT JAGTAT @ADB?
1 -2 1 4 1
(a)

—lZ(b) 5 _52 (C) 11_58 (d)
S199: (d); Use Calculator

4,

1
27’ 3° 3’9 0% 73 3’

X+y X y
69. X X4z z | 9399 @wG?
y zZ  y+z

(a) xy“z (b) 2xyz’ (c) 3xyz (d) 4xyz (e) 5x*yz
sigiE: (d); Shortcut; put some different values of x, y, z for like x =2, y=4,z=5

6 2 4
2 7 5|=6(63—-25)-2(18-20)+4(10-28) =160
4 5 9

70. 3FE! R0 GRTER TR 72, 73 A 76 ww oF @R 6 W [T 2300 @it ARy AL W e
(a) 10° (b) 10° (c) 3x10° (d) 3x10* (e) 7x10° [Ans: d]

5x% -4 _
71. > qF HiHF SR (FH0?
x2(x —2) ,.

3 1 4 3
a + — b
()x x? x-2 ()xz X—2 X X—2
1

1 3 1

d) —+—+ e) —+—+
()X Kz X—2 ()‘}{ X X —2

T4IE: (), Put any value of x except 2 and test.

72 lim © —e_x—.?x

x—0 .

O T 97

(a) 4 (b) 3 (c) 2 (d) | (e) O

X -:'l_z X -

€ +¢€ =Iimﬂ'ﬂ —Ex=0(mwﬁﬁmaﬁ)

l—cosx *1+sinx

TIEE: (€); 2,
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73. I x=tanlny W@ 12 @7 T 7

Y1
1+ x? 2x —1 1+x° -1 1+ x?
a b c) — d) — €
()2}(—1 ()l+x (©) 2x -1 (@) l-i-J-:2 ()1 X
FargE: (d); x =tan(lny) ::»lny=tan'1‘x :lylzl 1 ; :>y1(1+x2)=y
Yy + X
= y,(1+x%)+2xy, =y, '_'y_2=1—23;i
y; 1+x
74. y+x=x_yﬁwmgx—ynﬂﬁmﬁﬁ?
X2 +2 X+2y+5 Xy +y° +1
(a) : (b) " | (c) 2
2x +logx (x+y)+logx x+logx
2 2
+X+ X + Xy —
(d) — Xy y (€) —— \ b
X[1+(x+y)logx] X“[(x+y)logx]
1 (dy y dy
TgE: (d); In(y+x)=—vinx = +]l|=—=—-Inx—
(d); In(y+x)=-y yﬂ[dx J " i
Y Hxy+x
::\d)’( 1 _an) (}’ ]_?E}’__ x(y+x) y> + Xy +X
X+y Lx y+X dx (x+y)Inx+l] x[1+(x+y)Inx]
(x+y)
%2
75, [——— dx @I
e” +e
]. ~] _xj 1 -1 ;3 -1 ?{3
(a) Etan (e " )+C (b) gtan (e” )+C (c) tan (e” )+C
(d) tan™'3x +C (e) tan"' x +C
X’ S L s Tk 8¢ T U4 1 ;
sar: (b); j pdx =3 =[-8 [P = _tan"'(p)+c=—tan"' (" )+c
e* +e e?+e? 37 (e?)+1 371+p° 3 3

Let, x> =z, e =p
= 3x’dx =dz = e*dz=dp
76. Choose the correct indirect sentence of the fﬂllnwmg direct sentence- [Ans : d]
Rahim said, "Let’s go for a picnic."
(a) Rahim requested that we must go for a picnic
(b) Rahim advised us that we should go to a picnic
(c) Rahim told us to go for a picnic

(d) Rahim suggested that we should go for a picnic
(e) Rahim suggested us to go for a picnic

77. Do and die (Simple) [Ans : c]
(a) If you do, you will die (b) Without doing you will die
(c) For doing you will die (d) In case of your doing you will die

(e) None of the above

ECR s L
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78. Choose the correct sentence [Ans : a]
(a) He absented himself from the meeting
(b) He absented from the meeting
(c) He absented the meeting
(d) His meeting was absented from him
(e) None of the above

79. When I get home, my dog......... at the door waiting for me. [Ans : c]
(a) sits (b) is sitting | (c) will be sitting
(d) has been sitting (e) have been sitting |

80. The doctor operated............ the patient. [Ans : €]
(a) over (b) into (c) to (d) upon (e) on

81.  What is the right form of verb of the following sentence? _ [Ans : c]
"He kept me (to wait) there."
(a) Waited (b) Wait (c) Waiting
(d) To be waited (e) None of the above |

82. Choose the correct passive form of the sentence- "Keep your word." [Ans : b]
(a) Word is kept by you (b) Your word should be kept

(c) Word has to be kept by you (d) You should keep word
() Word must be kept by you |

83. Neither the boys was present. The underlined word is a............. pronoun. [Ans : b]
(a) Reciprocal ~ (b) Distributive (c) Demonstrative (d) Relative (e) None

84. Transform the sentence as directed, "Wait here till my arrival." (Complex) [Ans : c]
(a) Wait here before I come (b) Wait here before I arrive
(c) Wait here till I arrive (d) Wait here till my arrive
(e) None of the above

85. Choose the best fit word or phrase for filling in the gap of the sentence below. [Ans : b]
I cannot ................ myself, though I do not want to be rude.
(a) control (b) restrain (c) regulate (d) help (e) refrain

86. Choose the correct masculine gender of "Spinster”. [Ans : €]
(a) Horse (b) Tailor (c) Gentleman  (d) Shepherd (e) Bachelor

87. Find out the correct translation into English of the sentence. 513 (17 (T* IrEHIAT? [Ans : d]

(a) Which country is Dhaka the capital of?
(b) Dhaka is the capital of which country?
(c) Which is the country of which Dhaka is the capital?
(d) Of which country is Dhaka the capital
(e) Of what country is Dhaka the capital?
88. Choose the correct underlined part of the following sentence which is incorrect. [Ans : e]
The mgm of patient undergoing an emergency operation when the lights suddenly go off can
better be imagined than describe.

(a) plight (b) undergoing (c) go off (d) imagined (e) describe
89. What kind of noun is "Cattle"? [Ans : b]
(a) Proper (b) Common (c) Collective (d) Material (e) None

G E T o




90. What 1s the verb of the word @&shortly? ‘ [Ans : c]
(a) Short (b) Shorter (c) Shorten (d) Shortness (e) None

91. Unless you work hard, you won’t pass. Here "Unless" is........... [Ans : c]
(a) Verb (b) Preposition  (¢) Conjunction (d) Adverb (e) None

92. Which one of the following is correct? - [Ans : a]

(a) He gave me many good advice (b) He gave me many good advices
(c) He gave me many good advise (d) He gave me many good advises
(e) None of the above

93. Quinine cures a man............. malaria. - [Ans : a]
(a) of (b) from (c) up (d) over (e) None

94. Choose the meaning of "Beck and call". [Ans : a]
(a) Obedient (b) Disobedient (c) Softness (d) Cruel (e) Respectable

95. Change the voice of the sentence, "They had a nice car." [Ans : €]
(a) A nice car was had by them (b) A nice car had had by them
(c) A nice car had been by them (d) A nice car is had by them (e) No passive form

96. Choose the correct placement of the term "only" in the sentence to mean that "he agreed to help

that boy, no one else". [Ans : a]
(a) Only he agreed to help that boy (b) He only agreed to help that boy

(c) He agreed only to help that boy (d) He agreed to help only that boy
(e) None of the above

97. Most probably he will not come. Which phrase describes the best underlined expression? [Ans : b]
(a) Bull market (b) Ten to one (c) Null and void (d) Boot lege (e) None
Questions 98 to 100 are based on the following reading:

A recent 1nvestigation by Scientists at the U.S. Geological survey shows that strange animal
behavior might help to predict furture earthquakes. Investigators found such occurrences-in ten
kilometer radius of the epicenter of a fairly recent quake. Some birds screeched and flew away
wildly; dogs yelped and ran around uncontrollably. Scientists believe that animal can perceive
these environmental changes as early as several days before the mishap.

In 1976, after observing animal behavior, the Chinese werE able to predict a devastating
earthquake. Although hundreds of thousands of people were killed, the Government was able to
evacuate millions of other people and thus keep the death toll at a lower level.

98. What prediction may be made by observing animal behavior? [Ans : a]
(a) An impending earthquake (b) The number of people who will die
(c) The 10 km radius of the epicenter (d) Environmental changes
(e) An impending storm

99. In this passage the word evacuate most nearly means- [Ans : a]
(a) Remove (b) Destroy (c) Tormado (d) Exile (e) Emaciate

100. If scientist can accurately predict earthquake, there will be- [Ans : b]
(a) fewer animals going crazy (b) a lower death rate
(c) fewer people evacuated (d) fewer environmental changes  (e) No earthquake
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